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All Candidates' performance across questions

Question Title Mean Max Mark Attempt %
1 (a) 131 2.5 1.5 6 41.5 100

1 (b))
idi | 126 | o9 | o7 | 2 | 472 | 92 |
1 (d)iii)

2 (a)fi)
2(() | 131 | 13 | o9 | 3 | 4 | 100 |
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1 (d) (i)

Discuss whether the proposed fiscal expansion and greater deregulation

are likely to increase the long-term rate of US growth from 2 to 3%. [10]
AO2 AO3 AO4
Band
3 marks 3 marks 4 marks
3 marks 3 marks 4 marks
Excellent application. Excellent analysis. Excellent evaluation.
Full use of the data Clear explanation of how | Clear judgement of the
throughout, making both policies will links between both
3 direct use of the increase US growth. policies and growth are
specifics of both fiscal made.
expansion and
deregulation, in this case May have come to an
in the context of a 3% overall final judgement.
growth target.
2 marks 2 marks 2-3 marks
Good application. Good analysis. Good evaluation.
Specifics of both fiscal The link between one Top of band may not
expansion and policy and growth is come to a final
deregulation are used, made effectively, but the | judgement but have well
but there is less depth of | other is less developed. | developed arguments
2 development. and counterarguments
for each policy.
Developed counter-
arguments for one policy
are made, but
counterarguments to the
other are less well
developed.
1 mark 1 mark 1 mark
Limited application. Limited analysis. Limited evaluation.
Some details of the The links between Some attempt to qualify
1 case-specifics of either policies and growth are is made, but the
fiscal expansion or not well developed, but qualification/counter-
deregulation are used, some attempt is made to | arguments are not
but development is explain. developed.
limited.
0 marks 0 marks 0 marks
0 Points are wholly Answer only asserts One-sided answer.
generic. points.
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Indicative content:

Direct tax cuts can stimulate both AD and AS (via incentives to work and invest, higher
disposable incomes and so on), therefore helping to create both actual and potential growth.
Corporate tax cuts could work well to encourage businesses from back over the border if
protectionist policies are introduced simultaneously. In addition, corporate tax reductions can
encourage FDI from oversees generally.

Credit AD/AS diagrams for AO3 if they are well integrated, or possible Laffer curves if they
are linked to growth rather than just focusing on the total tax yield.

But wider fiscal deficits can cause crowding out and, if inflation is triggered, this could cause
the Fed to raise rates sooner, which might choke off growth. Many US tax cuts in the past
have tended to favour higher income earners, making their impact on AD lower.

Infrastructure spending on roads and bridges can again stimulate both AD and AS in the
short and long run respectively, but many have questioned the extent to which there are
enough shovel-ready projects to allow Trump to spend $1 trillion. With US unemployment
heading below the NAIRU, there are likely to be questions over whether the sKkills to
complete these infrastructure projects are easily available (especially if restrictions are
imposed on immigration), making the inflation risks and the response from the Fed a
credible danger.

Deregulation in this context seems to involve cuts in red tape in transport and energy. In
principle, this should help to reduce business costs, putting downward pressure on inflation
and raising profitability levels so that investment is more likely to take place. Hence, growth
may be stimulated if prices start to grow more slowly than wages in the short term and via
raised levels of investment in the medium term.

How significant these cuts will actually be is open to question and the environmental
consequences of softer regulations on fossil fuels emissions may slow down the growth of
alternate-tech industries which have been growing fast in the US.

General AO4

Greater protectionism can slow growth and therefore counteract the effects of fiscal and
supply side policies.

Policies are focused at the manufacturing sector, but it is services which are actually the key
— great deregulation there, for example, may have a far greater impact on GDP growth than
the manufacturing-focused policies outlined (because it is only 8.5% of jobs and 12% of
GDP).

The problem with deregulating the financial service sector is the effect on the global
economy of abusive operations of the players.

It is all going to take a long time and other throwaway evaluations: do not over-credit these.
Allow other plausible lines of argument.

Answer is reversible.

© WJEC CBAC Ltd.
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Sticky Note

Analytical chain of argument focusing on fiscal expansion through cut in direct taxes linking to an increase in AD.



Sticky Note

In-depth valid qualification of whether cuts in direct taxes will work, using information from the case to support the candidate's arguments, hence some evaluation and application in this qualification,



Sticky Note

Answer now moves onto the second element of the question and thus, with this valid effective argument, the answer has now moved into good analysis as it is focused on the whole question. There are also some specifics from the case used to support the argument on deregulation.








Sticky Note

Another valid qualifier evaluating the impact of deregulation. 



Sticky Note

End judgment made with some justification. However, there has been plenty of evaluation prior to this.



Sticky Note

AO2: 2, AO3: 2, AO4: 4.



Sticky Note

Although the answer mentions the link to LRAS once, the majority of thought appears to be on AD - the question was on long-term rate of growth, which is a supply-side issue. If this had been the end outcome of the question, it would have scored more highly.










1



Sticky Note

There is a valid argument on both fiscal and deregulation but the analysis of each is relatively generic and lacks depth of development. It also focuses on AD in contrast to LRAS which was hinted at by the question on long-term growth.



Sticky Note

There is a valid qualification to the fiscal expansion due to tax cuts, with some use of the information in the data. However, the qualification of deregulation is lacking and there is no overall judgment, thus limiting the answer to limited evaluation.



Sticky Note

AO2: 1, AO3: 2, AO4: 1.



Sticky Note

A relatively limited answer in terms of application and evaluation. Good analysis even though lacking in depth as the candidate did cover both fiscal and deregulation.













Sticky Note

Statement disagreeing with the question but no justification as yet.








Sticky Note

Answer presents a valid argument on how fiscal expansion could lead to long-term growth and focuses on the aggregate supply, with some information from the data used to support the argument.



Sticky Note

A limited qualification of the argument with some explanation but a little muddled and confused.



Sticky Note

Overall, this is a limited answer as it has only focused on the fiscal expansion and missed out any analysis and discussion of greater regulation. A "good" and "excellent" answer was required to focus on both parts of the question.



Sticky Note

AO2: 1, AO3: 1, AO4: 1.










Answer all questions.

TRUMP: “LETS MAKE AMERICA GREAT AGAIN”

When Donald Trump won the American Presidential election in 2016, the word on everyone’s
lips was Trumponomics. Whilst the exact meaning of the term is hard to determine, there seem
to be several key elements:

Sizeable cuts in direct taxes for both individuals and businesses

A $1 trillion infrastructure programme to rebuild roads and bridges
Deregulation in the form of reduced red tape (bureaucracy) across a range of industries
including transport and power

Trade reform —

o Trump has pulled out of the Trans Pacific | Steel tariffs to protect US industry
Partnership (a free trade agreement | US regulators are expected to rule
between Japan’ Australia and Canada, in favour of the imposition of tariffs
amongst others). on imported steel to the US later

o Trump is seeking to renegotiate NAFTA | this year on the grounds of national
(The North American Free Trade | security. President Trump has also
Agreement, between the US, Canada | accused Chinese manufacturers
and Mexico). of ‘dumping’ steel below cost of

o Trump is threatening to impose import | production in the US, causing

tariffs on a range of products such as

unemployment in the US ‘rustbelt’, an

area where a significant proportion of
US steel is made. Industry experts,
however, have warned that tariffs
will hurt steel-using industries and
cause retaliation by America’s trade
partners, meaning that more jobs will
be lost than created.

solar panels and steel.

Tougher immigration control on the border
with Mexico, including tougher action on illegal
immigrants and the possibility of building a
3000km border wall, paid for by 20% tariffs
on Mexican goods. Some commentators have
suggested that all this really means is that the
wall will be paid for by US consumers.

Critics of Trumponomics have suggested that the fiscal expansion may be unsustainable
because of the large size of US public sector debt (national debt). Also the tax cuts
announced tend to favour higher income earners. If the fiscal expansion were successful
in stimulating economic growth, this might also lead to an even wider trade deficit (see
Chart 1).

© WJEC CBAC Ltd. (B520U20-1)





CHART1
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In addition, although Trump’s goal is to increase US economic growth from 2% a year to 3%,
research (see Chart 2) suggests that greater openness to global free trade is associated
with higher growth rates; a more protectionist position might reduce rather than increase US

economic growth.

CHART 2 - Real per capita GDP growth
(annual rate)

M Rich countries M Globalising countries 1 Non-globalising countries
5.0

4.0
. 30
o 2.01 H
1.0 ﬂ
ol . | .

1960s 1970s 1980s 1990s

Source: Trading economics

In any case, some critics argue that Trump’s focus on the manufacturing industry is missing the
point — the manufacturing industry employs only 8.5% of the US workforce and contributes 12%
of GDP. It is the technological revolution in services that is more likely to drive economic growth
in the US in the near future.

© WJEC CBAC Ltd. (B520U20-1)





(d)

(iii) Discuss whether the proposed fiscal expansion and greater deregulation are likely
to increase the long term rate of US economic growth from 2% to 3%. [10]

© WJEC CBAC Ltd. (B520U20-1) Turn over.
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Question

Total

2 (a) (ii)

With reference to the data and using a demand and supply diagram, outline

why the price of olive oil has been rising in recent years. [5]
AO1 AO2
Band
3 marks 2 marks
3 marks
Excellent understanding.

3 Diagram shows demand shifting
right and supply shifting left with
price marked as increasing and
quantity falling, and the diagram is
referred to as part of the answer.

2 marks 2 marks
Good understanding. Good application.

2 Diagram correctly shows demand Identification from the data as to why
curve shifting to the right and supply | both demand (increased global demand)
curve to the left. Price is shown to and supply curves shift (poor harvests).
rise on the vertical axis, but a lower
quantity is not shown.

1 mark 1 mark
Limited understanding. Limited application.
1 Only one curve is shown shifting Only one of the above is identified (either
correctly. demand or supply).
Or both curves are shifted, but there
are major labelling errors.
0 marks 0 marks
0 No diagram or totally incorrect No application.

diagram.

© WJEC CBAC Ltd.






Indicative content:

Price

AO2
Drought — which harms the harvest, decreasing supply greatly.

International demand — remains strong, with sales increasing in Australia, Brazil and China.

10

© WJEC CBAC Ltd.
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Sticky Note

Answer has a diagram that correctly shifts demand outward and supply inward; however, the quantity shows a net gain whereas total quantity should fall as indicated by the case,  The diagram is used in the answer.



Sticky Note

Reasons for both shifts are identified from the data.





Write the two digit question
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Sticky Note

AO1: 2, AO2: 2.
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Sticky Note

Answer has a diagram that correctly shifts demand outward and supply inward; however, the quantity shows a net gain whereas total quantity should fall as indicated by the case.  The diagram is used in the answer.








Sticky Note

Although there are good explanations as to why the price may change - there are vague references to the data and no specific linkage to the factors in the case for each shift.



Sticky Note

AO1: 2, AO2: 1.
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Sticky Note

The answer picks up on one shift indicated by  the data, correctly shifting demand outwards, but does not pick up on the supply change also in the case.



Sticky Note

Benefit of doubt has been applied here for use of some of the information from the case to support the candidate's argument on why the demand shift might lead to a large increase in price. Although not a supply or demand shift factor, there has been an attempt to apply the answer.



Sticky Note

AO1: 1, AO2: 1.










Unit prices % increase

OLIVE OIL ON THE UP OLIVE OIL PRICES GO UP, AND UP, AND UP
The price of olive oil has risen by almost 3.2K
25% this year (2017), as drought affects 39

Mediterranean producers. Production
in Greece, ltaly, Tunisia and Spain is

£000/tonne

forecast to fall sharply. 20

. . 1.6 “rr i I‘v
World production is forecast to fall 14 il W
14%, with ltalian output expected to 12

fall by almost 50% in the 12 months 2010 2012 2014 2016 2017
to September 2017, according to the

International Olive Council (I0OC). Greece is likely to see a 20% fall, Tunisia a 17% fall, while
production in Spain is predicted to decline 7%. The fall in supply is happening at a time when
demand remains strong; Australia, Brazil and China are among the markets where sales are
growing rapidly, according to the IOC.

Unfavourable weather conditions have been affecting olive oil production in Mediterranean
countries more frequently, experts have noted. “We have had bad weather affecting production
three years out of the last five,” said Vito Martielli, an industry expert. While the production level
is higher than that of 2012 and 2014, when a drought in Spain and pests in Italy were the cause
of poor harvests, the more frequent declines in output and lower stock levels have made price
rises more likely.

Adding to the problem is that olive harvests work on a cycle in which trees generally produce a
strong harvest one year and then a weaker harvest the following year as the trees take a bit of a
rest. Furthermore, newly planted trees take at least five years before they start producing olives
in sufficient quantity to be harvested. Some would say that olive oil has inelastic price elasticity
of supply, although olive oil, if stored in the right conditions, can last for up to two years after
harvesting.

The price of olive oil is likely to hit a seven-year high in Britain after post-Brexit changes in the
value of the pound against the euro helped drive up prices of imported olive oil by around 20%.
However, retailers and suppliers are able to hold stocks of olive oil which means price rises take
time to feed through to supermarket shelves. The US imports more than 300,000 tons of olive oll
a year, more than half of which comes from lItaly and Spain. US consumers have so far enjoyed
lower prices thanks to a stronger dollar. Nonetheless, many consumers in developed economies
have in the past switched from expensive olive oil to the relatively cheaper substitute sunflower
oil.

Chart 1 Chart 2
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While the production of two of the biggest producers (Spain and Italy) in the global olive oil market
has fallen, the UK demand for olive oil has grown rapidly. From 6,200 tons in 1990, demand
soared to 65,000 tons in 2015. Britain’s restaurants have felt the impact of more expensive olive
oil. Several chefs spoke out about the impact of having to pay more. Francesco Mazzei, owner
of the London-based Sartoria restaurant, said that he had increased his menu prices to cover
the extra cost of buying olive oil. Ben Tish who runs Salt Yard (a London tapas restaurant), said
he had recently paid $648 for 100 litres of olive oil that cost $573 three months ago. Russell
Norman, co-owner of an Italian restaurant chain, voiced his dismay over the high price of olive
oil and the impact of Brexit in 2019 on the staffing of his restaurants, as EU nationals leave or
stop coming to work in the UK.

Adapted source: www.thesun.co.uk

@

(i) With reference to the data and using a demand and supply diagram, outline why the
price of olive oil has been rising in recent years. [5]
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1 (b) (ii)

With reference to economic theory and Chart 1, discuss the extent to
which economic growth is a major influence on the US Balance of Trade

(part of the current account of the balance of payments). [10]
Band AO2 AQO3 AO4
3 marks 3 marks 4 marks
3 marks 3 marks 4 marks
Excellent application. Excellent analysis. Excellent evaluation.
Full/specific use of the Clear explanation of how | Clear judgement of the
data throughout, making | growth will impact links between growth
3 direct use of figures on directly on the trade and the trade balance in
both sides of the balance. There is a this case.
argument. strong chain of )
reasoning present in Answers will probably
terms of how imports will | give a judgement on
be increased. whether growth seems to
be the key determinant.
2 marks 2 marks 2-3 marks
Good application. Good analysis. Good evaluation.
Charts are used on both | The link between growth | Top of band answers will
sides of the case, but and imports is present, have well developed
2 there is a lack of but the chain of counterargument(s).
specifics. reasoning is not fully
e developed. Bottom of band
charts are well used developed but lacks
once to make one side of some depth.
the argument.
1 mark 1 mark 1 mark
Limited application. Limited analysis. Limited evaluation.
Charts are used to some | Some understanding that | Some attempt to qualify
2 extent, but only on one growth will worsen the is made, but the
side of the case. trade deficit is present, qualification/counter-
but the argument is argument is not
Either lack of specifics or | weak. developed.
specific reference used
briefly.
0 marks 0 marks 0 marks
0 Points are wholly Answer only asserts One-sided answer.
generic. points.
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Indicative content:

AO2

Clear link in 2008-10 — the fall in US GDP is directly correlated with an improvement in the
trade balance. Growth is -4% through 2009 and the trade balance is $40 billion better by the
end of it.

Post-2010, growth recovers, and the trade balance deteriorates again, although it starts
deteriorating in late 2009 when GDP growth is still negative.

Post 2012, growth continues at around 2% a year, but the trade balance then stays relatively
stable, implying that other factors are also at work (such as global recovery, exchange rates
and so on).

AO3
In principle, growth can be negatively correlated with the trade balance:

Rising GDP can mean higher household and corporate incomes which, depending on the
marginal propensity to import, will lead to rising imports from abroad, plus growth can push
up inflation, making domestic firms less competitive. A well explained version of this point
can be excellent AO3.

Likewise, in recession, the reverse will be true. Both are not necessary for excellent AO3,
but a fully developed version of each that does not talk about inflation could be worth
excellent AO3.

AO4

The link is not completely clear, especially in later years, because other factors affect the
trade balance such as exchange rates and growth rates in other countries (these points will
need to be developed to reach good AO4).

The causation could operate the other way, with a worsening trade balance slowing
domestic growth, meaning that the trade balance is a determinant of growth rather than vice
versa.

There may be time lags which mean that the effect of GDP changes is delayed.

© WJEC CBAC Ltd.
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Sticky Note

Analytical chain of argument focusing on fiscal expansion through cut in direct taxes linking to an increase in AD.



Sticky Note

In-depth valid qualification of whether cuts in direct taxes will work, using information from the case to support the candidate's arguments, hence some evaluation and application in this qualification,



Sticky Note

Answer now moves onto the second element of the question and thus, with this valid effective argument, the answer has now moved into good analysis as it is focused on the whole question. There are also some specifics from the case used to support the argument on deregulation.








Sticky Note

Another valid qualifier evaluating the impact of deregulation. 



Sticky Note

End judgment made with some justification. However, there has been plenty of evaluation prior to this.



Sticky Note

AO2: 2, AO3: 2, AO4: 4.



Sticky Note

Although the answer mentions the link to LRAS once, the majority of thought appears to be on AD - the question was on long-term rate of growth, which is a supply-side issue. If this had been the end outcome of the question, it would have scored more highly.










1



Sticky Note

There is a valid argument on both fiscal and deregulation but the analysis of each is relatively generic and lacks depth of development. It also focuses on AD in contrast to LRAS which was hinted at by the question on long-term growth.



Sticky Note

There is a valid qualification to the fiscal expansion due to tax cuts, with some use of the information in the data. However, the qualification of deregulation is lacking and there is no overall judgment, thus limiting the answer to limited evaluation.



Sticky Note

AO2: 1, AO3: 2, AO4: 1.



Sticky Note

A relatively limited answer in terms of application and evaluation. Good analysis even though lacking in depth as the candidate did cover both fiscal and deregulation.













Sticky Note

Very generic start to the answer, with a definition and statement agreeing with the question but not backed up by reasoning as yet.



Sticky Note

This is a limited answer, with use of data from one year for economic growth and another for the trade deficit. The explanation does not focus on economic growth but tries to link to the outcome of the policy change of lower interest rates - but there are errors in that also. The answer does not show any true understanding of the link between GDP and the trade deficit but more so that of interest rates.



Sticky Note

AO2: 1, AO3: 0, AO4: 0.










Answer all questions.

TRUMP: “LETS MAKE AMERICA GREAT AGAIN”

When Donald Trump won the American Presidential election in 2016, the word on everyone’s
lips was Trumponomics. Whilst the exact meaning of the term is hard to determine, there seem
to be several key elements:

Sizeable cuts in direct taxes for both individuals and businesses

A $1 trillion infrastructure programme to rebuild roads and bridges
Deregulation in the form of reduced red tape (bureaucracy) across a range of industries
including transport and power

Trade reform —

o Trump has pulled out of the Trans Pacific | Steel tariffs to protect US industry
Partnership (a free trade agreement | US regulators are expected to rule
between Japan’ Australia and Canada, in favour of the imposition of tariffs
amongst others). on imported steel to the US later

o Trump is seeking to renegotiate NAFTA | this year on the grounds of national
(The North American Free Trade | security. President Trump has also
Agreement, between the US, Canada | accused Chinese manufacturers
and Mexico). of ‘dumping’ steel below cost of

o Trump is threatening to impose import | production in the US, causing

tariffs on a range of products such as

unemployment in the US ‘rustbelt’, an

area where a significant proportion of
US steel is made. Industry experts,
however, have warned that tariffs
will hurt steel-using industries and
cause retaliation by America’s trade
partners, meaning that more jobs will
be lost than created.

solar panels and steel.

Tougher immigration control on the border
with Mexico, including tougher action on illegal
immigrants and the possibility of building a
3000km border wall, paid for by 20% tariffs
on Mexican goods. Some commentators have
suggested that all this really means is that the
wall will be paid for by US consumers.

Critics of Trumponomics have suggested that the fiscal expansion may be unsustainable
because of the large size of US public sector debt (national debt). Also the tax cuts
announced tend to favour higher income earners. If the fiscal expansion were successful
in stimulating economic growth, this might also lead to an even wider trade deficit (see
Chart 1).
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CHART1

US GDP Annual Growth Rate
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In addition, although Trump’s goal is to increase US economic growth from 2% a year to 3%,
research (see Chart 2) suggests that greater openness to global free trade is associated
with higher growth rates; a more protectionist position might reduce rather than increase US

economic growth.

CHART 2 - Real per capita GDP growth
(annual rate)
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In any case, some critics argue that Trump’s focus on the manufacturing industry is missing the
point — the manufacturing industry employs only 8.5% of the US workforce and contributes 12%
of GDP. It is the technological revolution in services that is more likely to drive economic growth
in the US in the near future.
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(b)
(i)  With reference to economic theory and Chart 1, discuss the extent to which

economic growth is a major influence on the US Balance of Trade (part of the
current account of the Balance of Payments). [10]
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